Log2 Fold Change

Log2 Fold Change

Log2 Fold Change

Log2 Fold Change

o

o

[ -
1

o

|
=
1

o

|
N
1

unk3_2N_old-2N_yng

pass thresh
FALSE

1 2 3
Log10 Mean expression

unk3 Dpl6 old-2N_old

pass thresh
FALSE

1.0

15 20 25 3.0
Log10 Mean expression

unk3 Dpl6 old-Dpl6_yng

TRUE

pass thresh

1

2 3
Log10 Mean expression

unk3 Dpl6 _yng-2N_yng

FALSE
TRUE

1

2 3
Log10 Mean expression

pass thresh
FALSE

unk3_2N_old-2N_yng

1.0-

—Log10(p.ad))

0.0-

-2

0 2

Log2FoldChange

unk3_Dpl6 old-2N_old

2.0-

1.5-

—Log10(p.ad))
5

0.5-
0.0-
2 a0 i
Log2FoldChange
unk3 Dpl6 old-Dpl6_yng
3-
2-
=
©
&
o
—
o)
o
T
1-
O-
2 -1 0 1
Log2FoldChange
unk3_Dpl6 yng-2N_yng
1.0-
=
©
&
o
—
o)
o
- 05
0.0-

-2 0
Log2FoldChange

pass thresh
FALSE

pass thresh

FALSE
TRUE

pass thresh

FALSE
TRUE

pass thresh
FALSE

1 0.001

2

3 0.025

4
5

© 00 N O

© 00 N oo 0o~ WDN PP © 00 N oo 0o b~ WN P

© 00 N oo 0o~ WDN PP

Cut

0.01

0.05
0.1
0.2
0.3
0.4
0.5

Cut
0.001
0.01
0.025
0.05
0.1
0.2
0.3
0.4
0.5

Cut
0.001
0.01
0.025
0.05
0.1
0.2
0.3
0.4
0.5

Cut
0.001
0.01
0.025
0.05
0.1
0.2
0.3
0.4
0.5

Count
0

0
0
0
0
0
0
0
0

Count
0

Count
0

0
0
0
0
0
0
0
0



